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5) Follow the instructions given on OMR Sheet.
6) Rough work shall be done on the sheet provided at the end of question

paper.
7) Only non-programmable calculators are allowed.·

1) Which of the following was the main aim of Taylor's  scientific management
theory?

A) Reduce production and increase morale

B) Study of human behavior in groups

C) Improve organizational efficiency and production

D) None of these

Imbrbn¡H$s H$moUVo Q>obaÀ`m d¡km{ZH$ ì`dñWmnZ {gÕm§VmMo _w»` C{Ôï> hmoVo?

A) CËnmXZ H$_r H$am Am{U _Zmo~b dmT>dUo

B) JQ>m§_Ü ò _mZdr dV©ZmMm Aä`mg

C) g§ñWmË_H$ H$m ©̀j_Vm Am{U CËnmXZ gwYmaUo

D) `mn¡H$s H$mhrhr Zmhr
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2) Who first propounded the concept of politics-Administration Dichotomy?

A) Woodrow Wilson B) Aristotle

C) Max Weber D) L.D. White

amOH$maU-àemgZ Û§ÛmMr g§H$ënZm H$moUr _m§S>br?

A) dwŚ>mo {dëgZ B) A°[añQ>m°Q>b

C) _°Šg do~a D) Eb. S>r. ìhmB©Q>

3) What is meant by Spoils System?

A) Awarding jobs to political supporters

B) Recruitment on the basis of management Quota

C) Recruitment purely on merit basis

D) Awarding different kinds of rewards for recruits

ñnm°Bëg {gpñQ>_ åhUOo H$m`?

A) amOH$s` g_W©H$m§Zm ZmoH$è`m XoUo B) _°ZoO_|Q> H$moQ>mÀ`m AmYmamda ^aVr

C) {Zìdi JwUdÎmoÀ`m AmYmamda ^aVr D) ^aVrgmR>r {d{dY àH$maMo ~jrg XoUo

4) In which year the first constitution of USA was drafted?

A) 1776 B) 1718

C) 1779 D) 1724

A_o[aHo$Mr n{hbr amÁ`KQ>Zm H$Yr V`ma H$aÊ`mV Ambr?

A) 1776 B) 1718

C) 1779 D) 1724
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5) Adherence to usage and customs is the feature of which constitution?
A) Only written

B) Both written and Unwritten

C) Only Unwritten

D)  Where there is no constitution

àWm Am{U na§nam H$moUË`m amÁ`KQ>ZoMo d¡{eï²>` Amho?

A) Ho$di {b{IV

B) XmoÝhr {b{IV Am{U A{b{IV

C) Ho$di A{b{IV

D) {OWo amÁ`KQ>Zm Zmhr

6) Which of the following statement about American President is right?

A) American President cannot contest election more than twice

B) American President cannot contest election more than twice, is a tradition

C) American President cannot contest election more than twice was a tradition
unto 23rd constitutional amendment, but now it is a rule

D) None of these

A_o[aHo$V amḯ>mÜ`jmÀ`m {ZdS>UwH$s~m~V H$moUVo {dYmZ ~amo~a Amho?

A) A_o[aHo$À`m amḯ>mÜ`jmZm XmoZ nojm OmñV doim {ZdSy>Z bT>dVm òV Zmhr hm H$m`Xm Amho

B) A_o[aHo$À`m amḯ>mÜ`jmZm XmoZ nojm OmñV doim {ZdSy>Z bT>dVm òV Zmhr {h àWm Amho

C) A_o[aHo$À`m amḯ>mÜ`jmZm XmoZ nojm OmñV doim {ZdSy>Z bT>dVm ̀ oV Zmhr {h 23 ì`m KQ>ZmXþéñVrnydu
àWm hmoVr nU AmO hm H$m`Xm Amho

D) `mn¡H$s H$mhrhr Zmhr

7) Through 1973 Constitution of Pakistan which form of Government was
introduced?

A) Presidential B) Parliamentary

C) Semi-presidential D) Autocratic

1973 À`m amÁ`KQ>ZoÛmao nm{H$ñVmZ_Ü ò H$moUË`m ñdê$nmMo gaH$ma gmXa Ho$bo Jobo hmoVo?

A) AÜ`jr` B) g§gXr`

C) {ZåZ AÜ`jr` D) {Za§Hw$e
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8) Who propounded the idea of Grameen Bank?

A) Amartya Sen B) Mohamud Yunus

C) Dr. Zakir Iqbal D) Zuhural Haq

J«m_rU ~±Ho$À`m g§H$ënZoMm àgma H$moUr Ho$bm?

A) A_Ë ©̀ goZ B) _mohå_X ẁZyg

C) S>m°. PmH$sa BŠ~mb D) Pwhab hH$

9) In which year monarchy in Nepal came to an end?

A) 2015 B) 2010

C) 2009 D) 2008

H$moUË`m dfu Zonmb _Yrb amOoemhr g§nwï>mV Ambr?

A) 2015 B) 2010

C) 2009 D) 2008

10) According to Mao what is the nature of political change?

A) Revolutionary B) Change from within

C) Evolution D) None of the above

_mAmo `m§À`m _Vo amOH$s` ~XbmMo ñdê$n H$go Agmdo?

A) H«$m§{VH$mar B) Am§V[aH$

C) CËH«$m§VrZo D) `mn¡H$s H$moUVohr Zmhr

11) What is the objective of green audit?

A) To assess whether the institute is sensitive towards

B) To assess whether the institute has adopted the policy of reduce, reuse,
recycle

C) To assess whether the institute use plastic or not

D) All three of the above

h[aV Vmio~§XmMm / AÝHo$jUmMm CÔoe H$m` Amho?

A) EImXr g§ñWm n`m©daUm~m~V g§doXZerb Amho H$m?

B) Reduce, reuse, recycle ho YmoaU g§ñWm am~dVo H$m `mMo narjU H$aUo

C) EImXr g§ñWm ßbmpñQ>H$Mm dmna H$aVo H$m `mMo narjU H$aUo

D) darb {VÝhr
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12) Whose objective is to create a new man who will sacrifice  Bourgeois values?

A) Mahatma Gandhi B) Lenin

C) Mao Tse Tung D) Fidel Castro

~wÁdm© _yë`m§Zm {Vbm§Obr XoUmam Zdm _mUyg KS>dUo ho H$moUmMo C{Ôï²> ò hmoVo?

A) _hmË_m Jm§Yr B) bo{ZZ

C) _mAmo Ëgo Vw§J D) {\$S>b H$mómo

13) After which election did a hung parliament come into existence in India?

A) 1998 B) 1952

C) 1957 D) 2014

H$moUË`m {ZdS>UwH$s Z§Va ^maVmV {Ìe§Hw$ g§gX ApñVËdmV Ambr hmoVr?

A) 1998 B) 1952

C) 1957 D) 2014

14) Which of the following is not a feature of electoral in India?

A) Adult suffrage

B) Secret ballot

C) Reserved seats in the legislature for scheduled castes and scheduled
tribes

D) Communal Electorate

^maVmVrb {ZdS>UyH$ ì`dñWoMo Imbrbn¡H$s H$moUVo d¡{eï²>` Zmhr?

A) àm¡T> _Vm{YH$ma

B) Jwá _VXmZ

C) AZwgy{MV OmVr d O_mVtgmR>r H$m`Xo_§S>imV amIrd OmJm

D) OmË` _VXma g§K



M/P ENT - 133

-6-

15) Who is related to traditional authority, Charismatic Authority and Rational
legal

A) Max Weber B) Lipset

C) Robert Dahal D) Plato

na§namJV, {Xì`db`m§{H$V d H$m`Xoera-{ddoH$s A{Y_mÝ`Voer H$moU g§~§{YV Amho?

A) _°Šg do~a B) {bngoQ>

C) am±~Q>© S>mb D) ßboQ>mo

16) Who wrote the Book of the Human condition?

A) Hannah arendt B) Karl Marx

C) Aristotle D) Socrates

X. øy_Z H§${S>eZ ho nwñVH$ H$moUr {b{hbo Amho?

A) h°ZmAm°a|Q> B) H$mb© _mŠg©

C) A°[añQ>m°Q>b D) gm°H«o${Q>g

17) Who is related to the book public policy making Re-examined?

A) Y. Dror B) Subhash Kashyap

C) Plato D) David Easton

npãbH$ nmo{bgr _oqH$J [a-EŠPm_ `m nwñVH$mer H$moU g§~§{YV Amho?

A) dm`. S>m°a B) gŵ mf H$í`n

C) ßboQ>mo D) S>o{dS> B©ñQ>Z

18) Who is related to the book of the policy orientation?

A) Harold Lasswell B) Subhash Kashyap

C) Plato D) David Easton

X nm°{bgr Amo[aE§Q>oeZ `m J«§Wmer H$moU g§~§{YV Amho?

A) hoam°ëS> bmñdob B) gŵ mf H$í`n

C) ßboQ>mo D) S>o{dS> B©ñQ>Z
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19) Diplomacy is ______

A) About the use of Power

B) About the use of persuasion

C) About the use of not listening to other' concerns

D) About being sent abroad to lie for the good of one's country

amOZ` .............. Amho
A) e{º$À`m dmnam~Ôb
B) _Z didÊ`mÀ`m dmnam~Ôb
C) BVam§À`m g_ñ`m§H$S>o Xþb©j H$aÊ`mÀ`m dmnam~Ôb
D) EImÚmÀ`m XoemÀ`m ^ë`mgmR>r ImoQ>o ~mobÊ`mgmR>r naXoemV nmR>{dbo OmÊ`m~Ôb

20) The balance of power

A) No longer exists in a world of international law

B) No longer exists in a world of international organizations

C) Was helpful in ensuring that the cold war stayed 'Cold'

D) Nearly led to World War III during the cold war

e{º$ g§VwbZ .............
A) Am§Vaamḯ>r` H$m`ÚmÀ`m OJmV `mnwT>o ApñVËdmV Zmhr
B) Am§Vaamḯ>r` g§KQ>Zm§À`m OJmV `mnwT>o ApñVËdmV Zmhr
C) erV ẁÕ "W§S' am{hbo ho gw{Z{üV H$aÊ`mV _XV hmoVo
D) erV ẁÕmÀ`m H$mimV OdiOdi {Vgao _hm ẁÕ Pmbo

21) Brasilia Declaration is regarding?

A) BRICS Bank

B) Road Safety

C) Position of BRICS on agricultural subsidies in WTO

D) Making Brasilia capital of Brazil

~«mPr{b`m KmofUmnÌ g§~§{YV Amho?
A) {~«Šg ~±H$
B) añVm gwajm
C) S>ãë ỳQ>rAmo_Ü ò H¥$fr AZwXmZmda {~«ŠgMr pñWVr
D) ~«mPrbMr amOYmZr ~m~V
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22) Who proposed the Social Contract Theory?

A) Locke B) Aristotle

C) Socrates D) Plato

gm_m{OH$ H$ama {gÕm§V H$moUr _m§S>bm?

A) bm°H$ B) A°[añQ>m°Q>b

C) gm°H«o$Q>rg D) ßboQ>mo

23) What nationalism did Maulana Azad put forward to make Indian nationalism
more comprehensive and developing?

A) Hindu nationalism B) Mixed nationalism

C) Aggressive nationalism D) Muslim nationalism

^maVr` amḯ>dmX A{YH$ ì`mnH$ gd©g_mdoeH$ d {dH$gZerb Agmdm `mgmR>r _m¡bmZm AmPmX `m§Zr
H$moUVm amḯ>dmX _m§S>bm?

A) qhXÿ amḯ>dmX B) g{_l amḯ>dmX

C) AmH«$_H$ amḯ>dmX D) _wñbr_ amḯ>dmX

24) Vinoba Bhave's method of governing has nothing to do with it.

A) Welfare state B) Surajya

C) Swarajya D) Nationalism

 {dZmo~m ^mdo `m§À`m amÁ` H$aÊ`mÀ`m nÕVrV H$emMm g_mdoe hmoV Zmhr.

A) H$ë`mUH$mar amÁ` B) gwamÁ`

C) ñdamÁ` D) amḯ>dmX

25) Who wrote the book" Towards A New Public Administration : the Minowbrook
perspective?

A) Dwight Waldo B) Frank Marini

C) Woodrow Wilson D) WF Willoughby

"Qy>dS²>©g A Ý ỳ npãbH$ A°S>{_{ZñQ́>oeZ… X {_Zmo~«wH$ nañnopŠQ>ìh' ho nwñVH$ H$moUr {b{hbo?

A) S²>dmBQ> dmëS>mo B) \«±$H$ _°[aZr

C) dwŚ>mo {dëgZ D) S>ãë ẁ E\$ {dbmoo~r
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26) Empirically verified observation is called as what?

A) Theory B) Value

C) Fact D) Problem Statement

AZŵ dmZo gË`m{nV {ZarjUmbm H$m` åhUVmV?

A) {gÕm§V B) _yë`

C) VÏ` D) g_ñ`m {dYmZ

27) A researcher is interested in studying the prospects of a particular political
party in an urban area. So what tool should he prefer for the study?

A) Rating scale B) Interview

C) Questionnaire D) Schedule

EImÚm g§emoYH$mbm ehar ^mJmVrb {d{eï> amOH$s` njmÀ`m g§̂ mì`VoMm Aä`mg H$aÊ`mV ag Amho. Va
Ë`mZo Aä`mgmgmR>r H$moUË`m gmYZmbm àmYmÝ` Úmdo?

A) aoqQ>J ñHo$b B) _wbmIV

C) àíZmdbr D) doimnÌH$

28) The conclusions or  findings of which type of research cannot be generalized
to other situations?

A) Experimental Research B) Historical Research

C) Philosophical Research D) Experiential Research

H$moUË`m àH$maÀ`m g§emoYZmMo {ZîH$f© BVa n[apñWVt_Ü ò gm_mÝ`rH¥$V Ho$bo OmD$ eH$V ZmhrV?

A) àm`mo{JH$ g§emoYZ B) Eo{Vhm{gH$ g§emoYZ

C) VÎdkmZ g§emoYZ D) AZŵ dmË_H$ g§emoYZ

29) On what basis did Jean Piaget give his theory of cognitive development of
humans?

A) Evaluation Research B) Fundamental Research

C) Applied Research D) Action Research

OrZ {n`mJoQ>Zo _mZdm§À`m g§kmZmË_H$ {dH$mgmMm {gÕm§V H$moUË`m AmYmamda {Xbm?

A) _yë`_mnZ g§emoYZ B) _yb ŷV g§emoYZ

C) Cn`mo{OV g§emoYZ D) H¥$Vr g§emoYZ
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30) A college wants to give training in use of statistical package for social sciences
(SPSS) to researchers for this the college should organize what of the following?

A) Lecture B) Seminar

C) Workshop D) Conference

EImÚm H$m°boObm g§emoYH$m§Zm ñQ>°{Q>pñQ>H$b n°Ho$O \$m°a gmoeb gm`Ýgog (EgnrEgEg) À`m dmnamMo
à{ejU Úm`Mo Amho `mgmR>r _hm{dÚmb`mZo Imbrbn¡H$s H$m` Am`mo{OV H$amdo?

A) ì`m»`mZ B) n[ag§dmX

C) H$m ©̀emim D) n[afX

31) Which of the following statement is correct?

A) Discoveries are researches

B) Researches lead to discovery

C) Invention and researches are related

D) None of these

Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?

A) emoY åhUOo g§emoYZ B) g§emoYZm_wio emoY bmJVmo

C) emoY Am{U g§emoYZ g§~§{YV AmhoV D) `mn¡H$s H$mhrhr Zmhr

32) Which of the following quantitative data interpretation technique?

A) Axiology B) SPSS

C) Descriptive statistics D) Ontology

Imbrbn¡H$s H$moUVo ¹$m§{Q>Q>o{Q>ìh S>oQ>m B§Q>a{àQ>oeZ V§Ì Amho?

A) _yë`_r_m§gm B) EgnrEgEg

C) dU©ZmË_H$ AmH$S>odmar D) Am°ÝQ>mobm°Or

33) Who deals with numerical data?

A) Ontology B) Descriptive Statistics

C) Knowledge D) Justification

g§»`mË_H$ S>oQ>mer H$moU ì`dhma H$aVo?

A) Am°ÝQ>mobm°Or B) dU©ZmË_H$ AmH$S>odmar

C) kmZ D) Am¡{MË`
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34) Which of the following pair is correct?

A) Qualitative method-Subjective B) Qualitative method-Value free

C) Qualitative method-Survey D) Qualitative method-Fixed

Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Amho?

A) JwUmË_H$ nÕV-ì`{º${Zð> B) JwUmË_H$ nÕV-_yë` _wº$

C) JwUmË_H$ nÕV-gd}jU D) JwUmË_H$ nÕV-{Z{üV

35) Which of the following Quantitative Data mapping tool is correct?

A) SPSS B) Epistemology

C) Axiology D) Ontology

Imbrbn¡H$s H$moUVo n[a_mUmË_H$ S>oQ>m _°qnJ gmYZ `mo½` Amho?

A) EgnrEgEg B) kmZemó

C) _yë`_r_m§gm D) Am°ÝQ>mobm°Or

36) Give the correct answer by using the codes given below

1) The content analysis refer to picture and symbols

2) The content analysis do not refer to meaning and ideas

3) The content analysis is nonreactive

A) (1) and (2) are correct B) (1) and (3) are correct

C) (2) and (3) are correct D) (2) is correct

Imbr {Xboë`m H$moS>Mm dmna H$ê$Z `mo½` CÎma Úm.

1) gm_J«r {dûcofU {MÌo Am{U {MÝho g§X{ ©̂V

2) gm_J«r {dûcofU AW© Am{U H$ënZm§Mm g§X ©̂ XoV Zmhr

3) gm_J«r {dûcofU J¡a-à{V{H«$`merb Amho

A) (1) Am{U (2) ~amo~a AmhoV B) (1) Am{U (3) ~amo~a AmhoV

C) (2) Am{U (3) ~amo~a AmhoV D) (2) ~amo~a Amho
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37) Which of the following options are the main tasks of research in modern
society?

A) To systematically examine and critically analyse

B) To keep pace with the advancement in knowledge

C) To discover new things

D) All of the above

Imbrbn¡H$s H$moUVo n`m©̀  ho AmYw{ZH$ g_mOmVrb g§emoYZmMo _w»` H$m ©̀ Amho?

A) nÕVeranUo narjU Am{U {M{H$ËgH$ {dûcofU H$aUo

B) kmZmÀ`m àJVrgh JVr amIUo

C) ZdrZ ~m~r emoYUo

D) darb gd©

38) The depth of any research can be judged by _________

A) Title of the research topic B) Objectives of the research

C) Duration of the research D) Hypothesis of the research

H$moUË`mhr g§emoYZmMr Imobr hr ............. Ûmao {Z{üV Ho$br OmD$ eH$Vo.

A) g§emoYZmÀ`m erf©H$m B) g§emoYZmÀ`m C{Ôï>`m

C) g§emoYZmÀ`m H$mbmdYr D) J¥{hVH$mÛmao

39) Which of the following research can be classified?

A) Basic, applied and action Research

B) Philosophical, Historical, Survey and Experimental Research

C) Quantitative and Qualitative Research

D) All of the above

Imbrbn¡H$s g§emoYZmMo H$moUVo dJuH$aU Ho$bo OmD$ eH$Vo?

A) _yb ŷV, Cn`mo{OV Am{U H¥$Vr g§emoYZ

B) VÎdkmZ, Eo{Vhm{gH$, gd}jU Am{U àm`mo{JH$ g§emoYZ

C) n[a_mUmË_H$ Am{U JwUmË_H$ g§emoYZ

D) darb gd©
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40) Why is the bibliography given in the research report?
A) Helps those interested in further research

B) Shows the knowledge of researcher

C) A and B

D) None of these

g§emoYZ AhdmbmV J«§WgyMr H$m {Xbr OmVo?

A) nwT>rb g§emoYZmV {Okmgm AgUmè`m§Zm _XV H$aVo

B) g§emoYH$mMo {demb kmZ Xe©dVo

C) A Am{U B

D) `mn¡H$s Zmhr

41) Experimental research is based on ________

A) On the handling of variables B) On ideological criteria

C) On survey of literature D) On review of literature

àm`mo{JH$ g§emoYZ ho ............. AmYm[aV Amho.

A) Mbm§À`m hmVmiUrda B) d¡Mm[aH$ _mnX§S>mda

C) gm{hË`mMo gd}jUmda D) gm{hË`mMo nwZamdbmoH$Zmda

42) Which of the following is not a major feature of scientific research?

A) Empirical B) Theoretical

C) Experimental D) Beliefs

Imbrbn¡H$s H$moUVo d¡km{ZH$ g§emoYZmMo _w»` d¡{eï²>` Zmhr?

A) AZŵ dOÝ` B) g¡Õm§{VH$

C) àm`mo{JH$ D) lÕm
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43) What are the various classifications of sampling?
A) Random and purposive
B) Stratified and cluster
C) Probability and non probability
D) Multi-stage and sequential

g°ånqbJMo {d{dY dJuH$aU H$m` AmhoV?
A) `mÑpÀN>H$ Am{U CÔoenyU© B) Stratified Am{U ŠbñQ>a
C) g§̂ mì`Vm Am{U J¡a-g§̂ mì`Vm D) Multi-stage Am{U sequential

44) What is a sample called if it represents one or few characteristics of the
population more than the others?
A) Good sample B) Bad sample
C) Biased sample D) Ineffective sample

Oa Z_wZm BVam§nojm bmoH$g§» òMr EH$ qH$dm H$mhr d¡{eîQ²> ò Xe©{dV Agob Va Ë`mbm H$m` åhUVmV?
A) Mm§Jbm Z_wZm B) dmB©Q> Z_wZm
C) njnmVr Z_wZm D) Aà^mdr Z_wZm

45) Select the correct code which indicates the basic elements which leads the
entire process of research.
A) Purpose and method main object
B) Method  and population
C) Sample and hypothesis
D) Hypothesis sample and method

`mo½` H$moS> {ZdS>m Omo _yb ŷV KQ>H$ Xe©dVmo Oo g§emoYZmÀ`m g§nyU© à{H«$ òMo ZoV¥Ëd H$aVo.
A) CÔoe Am{U nÕV _w»` CÔoe B) nÕV Am{U bmoH$g§»`m
C) Z_wZm Am{U n[aH$ënZm D) n[aH$ënZm, Z_wZm Am{U nÕV

46) _______ describes the present state of affairs as it exists without having any
control over variables.
A) Analytical research B) Descriptive research
C) Applied research D) Distinctive research

ìhoao~b H$moUVohr {Z §̀ÌU Z R>odVm Vr ApñVËdmV Amho åhUyZ gÚpñWVrMo ............. dU©Z H$aVo.
A) {dûcofUmË_H$ g§emoYZ B) dU©ZmË_H$ g§emoYZ
C) Cn`mo{OV g§emoYZ D) {d{eï> g§emoYZ
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47) In the ______ research is based on the measurement of quantity or amount.
A) Qualitative B) Descriptive
C) Quantitative D) Numerical
............. _Ü ò emoY à_mU qH$dm aH$_oÀ`m _moO_mnmda AmYm[aV Amho.
A) JwUmË_H$ B) dU©ZmË_H$
C) n[a_mUdmMH$ D) g§»`mË_H$

48) ______ as a testable statement of potential relationship between two or
more variables.
A) Research hypothesis B) Research experience
C) Research problem D) Research crisis
XmoZ qH$dm A{YH$ ìho[aE~ëg_Yrb g§̂ mì` g§~§Ym§Mo MmMUr`mo½` {dYmZ åhUyZ ............
A) g§emoYZ n[aH$ënZm B) g§emoYZ AZŵ d
C) g§emoYZ g_ñ`m D) g§emoYZ g§H$Q>

49) A Blue print of research work is known as ______
A) Sampling design B) Research design
C) Research hypotheses D) Research approach
g§emoYZ H$m`m©Mo ãby qàQ> ............ åhUyZ AmoiIbo OmVo.
A) Z_wZm {S>PmBZ B) g§emoYZ aMZm
C) g§emoYZ J¥{hVHo$ D) g§emoYZ Ñï>rH$moZ

50) In which language is the origin of the word 'theory'?
A) Sanskrit B) Spanish
C) Greek D) English
"{gÕm§V' `m eãXmMo CËnÎmrñWmZ H$moUË`m ^mfoV Amho?
A) g§ñH¥$V B) ñn°{Ze
C) J«rH$ D) B§J«Or


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